
Change= × 100Percentage of change 
original
 Amount

2nd Row
5
6

= × 100% change

= 83.33% change

3rd Row
change

5
= × 100-60

= -3change

4th Row
2.8
10

= × 100% change

= 28% change

5th Row

change=
100

-60 × 5

change
5

= × 10080

= 4change

change=
100

80 × 5

rise
run=m

2nd Row
8
4=m

2=m

3rd Row
rise
2=

9
2=rise

4th Row 5th Row
200

8=m

25=m

1
2

= 2

10
run=

=run

1
4

4

× 2

40

10
5

= C + 30F

2nd Row 10
5

= C + 3080

10
5

= C80 - 30

= C50 × 5
10

= C25

3rd Row 10
5

= C + 3012

10
5

= C12 - 30

= C-18 × 5
10

= C-9

4th Row 10
5

= 0 + 30F

0
5

= + 30F

= 0 + 30F
=F 30

5th Row 10
5

= × C + 3088

10
5

= + C88 - 30

= C58 × 5
10

= C29

6th Row 10
5

= × 15 + 30F

150 + 30=F

= F60

7thRow 10
5

= × -5 + 30F

-50=F

5

5
+ 30

= F20

Answer

d = r × t

2nd Row
d = 500 × 2
d = 1000

3rd Row
98 = r × 7

14 = r

4th Row
d = 12 × 20

d = 240

5th Row
480 = 100 × t

4.8 = t
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